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boooobobooobOoobooooobooog

000000 pUOOO0DO0DO0DO0DODODODOOOOOOOOO 55:175—>(CDDDDDDDDDDpD
ooooooo vu,00000

e 00 ¢,€ A0D0D000OU,CUs 000
e 00 5000 U;000000x|U;—U, 00000

goboobooooo
A = {¢5:¢po7r| U5—>(C} _

peES
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00000000p D000 pp 000000000 »~! 0000000000000000000 0000 o) 00
0000000000000000 t+=100000%5 =a(1) = (a(l),[e]) = (po,[e]) 000D
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(3): [v] € m1(S,po) 0O O O0gp € Cov(S) O gpy: (2,[0]) = (2,[n-~])) 00000000000
O0x: [y~ g, 0000000 m(S,p) O Cov(§) 0000000000000000000
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e IOODOONO 8-1e

00 x:m(S,p) = Cov(S) 00000000000 0000000
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(b) 00 geCov(S)DDDODOOOg(R) =7

00. (b) = (1000000000000000R)O05=(le)0¢=(p[s)0000
peS, a,fell(S)D000DNDNDNDN0DNDN v:=a - 40000000¢,:5—=50
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0000000g, €Cov(S) 00 ¢,(p)=¢00000000000 [
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00 §/G000000000000000 peS00000000000000U=0,000
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0000ARO0O0O00000O0O000O0O0O0OO0OOOOO00O0O0O0O0OpeS0000000 830
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goosgooooooOoooo0Ooooo0oooooOooDoooooDoogooooOoOooDooo

oooooo0o0ooooo0ooobbo0o0o0 Xoooooooooooooooooooooo
obooooogd
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00 86 (00000)X=C, CODOOO0ODAwX) 000000000

. az+b
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bz+a
:{ewz—a caeD, HER}
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00000000. »:S—»S00000000f:5—-X00085000000000000
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000g € Aut(S) 0000 v:= fogof ' e Awt(X)000000000000000 g~ 00
0000000000000000000 G=Cov(S)<Aut(S)00000007 :=foGof <
Aw(X) 00O0O00000000000000000SO GOO00000000000f0000
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ooooo. Doooooo0fo goooooooooo
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e JO00OD0OOOOODODOOLUOODOLOODODODOOLOOODODOODOODOOO

gbbooobooooboobooobbooboooooooboooobooooooboobooooboooo20
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HDD 10.1 0000000 M(S)00000 T(S)/Mod(S) 00000000

00000 10.10. 00000 7T(S)/Mod(S) 0000000 7=[R,f] €T(S) O Mod(S) OO
ooo
Mod(S) -7 = {[h]-7=[R,foh™'] : [h] € Mod(S)}

000000000000 Mod(S)-r 00000 pr:T(S)— M(S)0000 pr(Mod(S)-7) = [R]
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11.1 00ood vs. OOOO.

goboboobooobooboobobobobbo
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zZ+1

Uz

O000D0O00AwH)OOOOODOOOOOOO

az+b
cz+d
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(2) 000 yeAw(H) D zeHOO0O0OO

O
Im~(z) Imz

(3) H=HURU{co} 000000000 yeAut(H)0 HOO HOOODOOD
oooo
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0000000000000000 fi, f,€Def(I) 00000
h——fo = A=f0R000000
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00000000000000000 f € Def(I).
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O000O0O000fA, fo,9o 000000000,1,00 0000000000 £, fo,gn: H—H
D00000g,ofi~fe 006, 7 =0,000000000000 §, »id000000
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0(mn—o0) 0000000000000 000000O0D00000D000D00000000
0000000000000000000
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